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SIMULTANEOUS EQUATIONS [NON-LINEAR]

Ref: (i‘)47.7 R4

EXAM PRACTICE
Al Solve A2 Solve A3 Solve A4 Solve
y=x y=x =3y y+7x=15
y=11x-10 y+3x=4 y=5x+8 y=2x
B1 Solve B2 Solve B3 Solve B4 Solve
x2+y2=29 x2+y2=4l x2+y2=17 3x=4-y
y=3x+1 y=2x-3 y+2x=7 xX+y°=8
C1 Solve C2 Solve C3 Solve C4 Solve
y=(x+1)’ y=x>+Tx+3 x+y=11 =6
y=5x-1 y=9x+2 xy =30 2x+y=T7
D1 Solve D2 Solve D3 Solve D4 Solve
3x-y=4 xz__ylzg 2x2——xy=12 3y* +2x* =21
X’ +y*=34 3x=y+8 x=4+y y-2x=-7

© 2019 Maths4Everyone.com

Worksheets, Videos, Online Assessments and Exam Solutions




Enjoy ¢ Improve ¢ Succeed

S REVIEW MathS4EVeryone.con

SIMULTANEOUS EQUATIONS [NON-LINEAR] | 7 R4
EXAM PRACTICE Ref: G947.
Al Solve A2 Solve A3 Solve A4 Solve
y=x’ y=x y=3x J+Fe=15 —p Y = 157X
y=11x-10 Jt+3x=d —p Y =U-3x y=5r+8 y=2x"
x*=11x-10 x?=4-3x 3x*=5x+8 2x*=15-7x
(1,1) and (10,100) (1,1) and (=1, 16) (=1,3) and (26,21.3) (=5,50) and (1.5,4.5)
B1 Solve B2 Solve B3 Solve B4 Solve
X4y’ =29 ¥4y =41 XAyt =17 by = - 3X
y=3x+1 y=2x-3 Jtde=T — Y =7 -2X X' +y'=8
X“+(Bx+1)* =29 X +(2x=-3 =11 X 4+(7-2x) =17 X"+ U-3x)7 =17
(-2,-5) and (14,5.2) (4,5) and (-1.6,-6.2) (4,—1) and (1.6,3.8) (2,-2) and (04,2.8)
C1 Solve C2 Solve C3 Solve C4 Solve
y=(x+1) y=x+7x+3 Tyt — y=11-x xy =6
y=>5x-1 y=9x+2 xy =30 Sxtp=T —p Y=7-2X
(x+17=5x-1 X +Tx+3=9x+2 Xx(11-x) =30 X(7-2x)=6
(1,4) and (2,9) (1,11) (5,6) and (6,5) (2,3) and (1.5,4)
D1 Solve D2 Solve D3 Solve D4 Solve
Sr=p=d — y=3x-H X yi=8 23 —xy=12 3y% +2x7 =21
X +y'=34 Sr=p+8 —bYy =3x8 bbby = x -l F=2xmT—bY=2X-7
X%+ (3x —H)F =34 X*—(3x-8) =8 2X" —x(x -l =12 3(2x=7) +2x" =21
(3,5) and (~0.6,-5.8) (3,1) (=6,-10) and (2,~2) (3,-1)
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